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Kapitel 5

5.32¢

mC6H1206 = MC6H1206 . nC6H1206 = 180,2g/mol . 0,101’1’101 = 18,02g

18,02

== 2 =~ 0
200 + 18,02 0,08265 ~ 8,3%

c
d
mC6H1206 = MC6H1206 . nC6H1206 = 180,2g/mol : 0,101’1’101 = 18,02g

18,02
© =700

= 0,09009 = 9,0%

5.42
C17H35COOH + 260, —» 18CO; + 18H,0

nRT
pV =nRT &V =——

T = (273,15 + 25)K = 298,15K

p = 101,3kPa = 101300N/m?

R =8,314 Nm
o mol - K
mc,,H;5COOH
Ngas = Nco, + Nu,0 = 36 * N ,H,.coon = 36 e oo
C,,H35COOH

55g
6 -
(12,01-18+ 1,008 - 36 + 16,0 - 2)g/mol
= 6,9603611mol

=3 = 36-0,19334336mol




_Nm__ 598 15K

mol - K _ X 5
=0,017032 ~
101300N/m? 0,017032059m* ~ 17dm

6,9603611mol - 8,314
V=

5.44
Sn(s) + Oz(g) — SnOx(s)

@)

msn =8 uns = 8 - 576 grains = 8§ - 576 - 0,0531 g=244,6848 g=245¢g
muus = 46/3 grains = 46/3 - 0,0531 g=0,8142 g~ 0,814g

Am = 3,12 grains = 3,12 - 0,0531 g = 0,165672 g = 0,166

b)

Mgy 244,6848g
tsn = e T 118,7g/mol

= 2,06137152mol

_mg,  0,166g
2 Mo, 2-16,0g/mol

no = 0,0051875mol

No 2 o s .
n—z <3 alltsd dr ng, begransande.
Sn

¢

nozlnsnoz =1:1= nSnOZ = Tloz = 0,0051875m01

Mgno, = Nsno, * Msno, = 0,0051875mol - (118,7 + 16,0 - 2)g/mol = 0,78175625g
~ (0,78g

547
_ 500-1073g
= (70000 + 500 - 10-3)g

= 7,14280612-10"° = 7,1 - 10~%%

Kapitel 7

7.17.

g = Zﬁi =5 4,1?:;)51 — = 0,04115226mol
1202k]

AHyg = — = 601kJ/mol

1k]
- = 24,7325103K] ~ 24,7k]

60
q = nAHyg = 0,04115226mol - o



